\l

B F > 5 L R

1R 2R QF SF F SF QF 2R 1R

T #HE(AT U E) 138 0O (TR T—)
6 4
2 = @ B (FTAREZ)— 0 6 — 14 B Y E
1
6
3H = B (TCI 2 0 2 0) — 15 H A E#HZT YU —)
1 L
5 6(1)
4 A B 2(OLAILTA)— —16 /EF Lk R B (FrJ RRED)
3
6
5B Y E — 3 3 —17 K E B RXK(Z7742)
6 6
=E
6 5 H #H 8 (FrJRARED) m— ol 3 TN B (FPRAVTF—)
6—4 6—0
TIERAKR BEHE (FENYTF—) m—m—m— —19 5 K B B (FLUI12T)
6 6
8/ H #l K(Jd £ T A )= 2 0 —20B Y E
6
0
95 A E (FrJARE=)— —21 5 H Ml( E M P )
501) 4
7 6
10 8 i B (Fr T AREZ)— — 22 T8 I £ (FYAHAAL¥ILTC)
6
4
mMB Y E — 5 9 23 b & F FHF(FrIRRED)
6 6
124 B B Z (FrRNAVTF—) — —— 04 P F IE F(TPENT—D)



TFIUTILAR

AJOyy HelE 1—-2 2-3 1-3
ELVAH| BAE | BHERL| B K B fi
1B W VA& (FBFEARLWLTC) 6-0 6—3 2
2|8 & (2L A4)) 06 6—7(1) 0—2
3| H X BAEHEY1ZT) 3-6 7—6(1) 1—1
B7AvY #EIE 1—23—4 1-3:2—4 1—4-2-3
iR BR|/IHREBFF| LT | ELKRHB | B K IIE 45z
(i B B R(FrJRK0G) 6-7(3) 6—3 1—6 1-2 3
2!V BHF F(T742TC)| 7—6(3) 6—0 3—6 2—1 2
3 L F(FrIaRED)| 3—6 — 1—6 0—-3 4
sl 7 K B (ZPHITC) 6-—1 6—3 6—1 3—0 1
< EBMREH >
Bl U AH (FHFEAEWLTC) 16
Rk 1 (ZLHITC) 4
< ZHIREH >
B X4 (FEET1=7) |0
Ik BEF (TJ7A42TC) 6
BFITILR
AJRvyy HEIE 1—2-3—4 1-8:2—4 1-—4:2-3
BE-A | oR-SH | E@-RN | [EH-ER s IE
17%‘ H B¢ E M P )
0w K BFEAVTF—Y) 6—1 4-6 6-0 2-1 |2
o|F A B (FrorKED
= B Eaysz#mo)| 1-6 1-6 1-6 0-3 |3
3 HFH #HEFvIRARED
B B (Fryzx#zo) 6-4 6—1 6-0 3-0 |1
AT B = ETEAYT=Y)
g E % —(zravz—u) 0-6 6-1 0-6 -2 |5%
B7AvYH
fwE-Am | mEeng | Ee-Eo | FHAEE| B oK | IEE
mE #ACERXP)
AR BAHN(ERXZE) 6-1 1-6 4-6 1-2 2
9 L= E(Fv¥RKEZ)
N RE(Fesamm=) 1-6 2=6 | 1-6 | 0-3 | 3
3 EE B Z(PEAYT—)
BB 0O *(FEAvF—2)  6-1 6-2 6—1 3-0 1
4|F ¥ B E(%Ko—rTO0)
NEE B s mTc) 64 6-1 1-6 2-1 | &%

X M7V 4BIEBERSELTSSRUL




< BBRATEE >
EFH #HEFvIrARED

B I BEFrIzxRED) 6
5 E B Z(FPERAYTF—) 4
B 0O RK(FENRVTF =)
< ZEREH >
5 H Bl e M P )
B X BFRAVT-Y) (6
RE M A(ERRKX=2) 3
AR BAHN(ERXZE)
55U EBFATILA

H&E 1—2:3—4 1-3:2—4 1—-4:2-3
NE-AR | FH-\EE| FH-ER | fefEtk | B K [E @

NEH FRAH—=21LT)
A#H M EX(HF—9ILT) - - -
T H B E(gKo—rTOo)

2

NEE BT (HE B T C) 6-2 - 1-0 1
S| B — E(TEAYT-)
B E % —(FRAYT—) - 2-6 - 0-1 2

E B H(T—ILT)
mOWm O Z (= NT) - - -

TFFTILA

H&elE 1—2:3—4 1-3:2—4 1—4-2-3

INFE-EAR | AR UR | EE-FEE | FH-KA B B& B 4f

INFE K F(TTAURFTC)

EAM WHEDLAILTA) 6-1 6-0 6-1 3-0 1
mH LI<(FrszaRkED)
W B H(FrszrKoa) 1-6 1-5 61 2-1 2
HH FERF(CH b F )
B HE & F(Ch H» (F ) 0-6 5-7 1-6 0-3 4

EH AXF(T Y F 1)
BB #F(x a3 —)H 1-6 1-6 6-1 1-2 3




5FBUELFETTILA

A7Ovs HEE 1—2 2—3  1—3
EENE | AEks | BEAETE | B OK IE
(BB E F(S3TAVEK7)
N EEF(STAVET) 6-2 1-6 1-1 2
) HEK BF(H 2 X D)
5 % F(EHBTC)H 2-6 2-6 0-2
3 BB B F(OA4¥ITC)
¥ F EE(HY—4H)1LT) 6-1 6-2 2-0 1
BZ7Awv4H
fEg-kO | chid-tEE | H-gih B8 IE
: % B F(TOY’  STL)
0 HEAR(TOY' STL) 2-6 1-6 0-2 3
o |FH MEF (REO—2TC)
% B F(ERO—2TC)| 62 3-6 1-1 2
3$$ 2 F(H—2)L7T)
Hith FEHFEB(EHTCH 6-1 6-3 2-0 1

¥ ATOYI2BRLUAAVN—FEEDASEREGLTS

< BHRFH >
BB A B F(OA4Y¥ILTC)
XRFE BEF(H—ILT) [4
% 2 F(HY—o910T) 6
G EFEE(EHTC)

< Zf(RFH >
2B B F(ZTA4VF7)
N EEREF(STAVET) 6
B Bﬂi%(&ﬁ,&n—ﬂc) 2
% B B F (ERKEO—2TC)




